ROUND ROBIN with CR
	1. What process needs Oxygen?
	Aerobic Respiration

	2. The released energy from CR is stored in this substance
	ATP

	3. How many ATP at the end of Glycolysis?
	2 ATP

	4. Where does AF take place?
	Unicellular organisms yeast

	5. ___ converts light energy into chemical energy
	Photosynthesis

	6. This takes place in the cytoplasm of all organisms
	Glycolysis

	7. Products of Aerobic Respiration that are exhaled out
	CO2

	8. Products of Aerobic Respiration that is sweat
	H2O

	9.  Fun
	

	10. When is water produced during AR?
	ETC

	11. How many ATP are formed from 1 glucose?
	36 ATP

	12. What molecule/compound is produced during Glycolysis?
	Pyruvate

	13. 
	

	14. Aerobic Respiration needs?
	Oxygen

	15. Where does the oxygen come from that we breathe in- be specific?
	Photosynthesis/plants

	16. If you are a prokaryote – where does aerobic respiration take place?
	Cytoplasm

	17. If you are a eukaryote – where does aerobic respiration take place?
	Mitochondria

	18. What process makes your muscles sore?
	Lactic Acid Fermentation

	19. Step #3 in aerobic respiration is
	ETC

	20. What produces lactic acid?
	Lactic Acid Fermentation

	21. What process makes bread/beer/wine?
	Alcoholic Fermentation

	22. This means the breakdown of glucose
	Glycolysis

	23. This does not need oxygen
	Anaerobic respiration

	24. How many carbons are in Pyruvate?
	3 Carbons

	25. Where is most of the CO2 made during AR?
	Krebs Cycle

	26. How many carbons make up acetyl-CoA
	2 Carbons

	27. FUN
	

	28. List the an 2 energy enzyme carriers
	NADH and FADH2

	29. How many carbons is in Glucose
	6 carbons

	30. Which process is the most energy efficient?
	Aerobic Respiration


